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(1) Question No.1 is compulsory and Answer 3 Questions out of remaining 5 Questions.
(2) Assume suitable data wherever necessary
(3) Figurers to the right indicate full marks.

Q.1 a) Give reasons for any five of the following statements. #YS
i) Grain direction of the strip is a consideration in locating the blank when bending ‘ 3
operation is required. F e R
ii) Guide bushes and pillars are always hardened . S 3
iii) Segmental die construction is preferred over solid one piece construction. &+ .* of

iv) Compound dies are used for close tolerance work parts.

v) Ejectors is essential for U bending die. é

vi) Dowels are located diagonally across each other and as a part as possible::
vii) Pilots are always hardened. : P

b) Explain construction and wogk{ngofmvened blanking die. .. :"\-> '“ : 05
Q.2 a) Part shown in figure is to\bE‘,\:pl_'_ci'duééd':dn_-progress_ive?di_e.&- .

i) Draw an economical strip layout; Consider sheet size;gs‘oe;g_i?xgeginm.,. LR 06
ii) Calculate tonnage required for the layout. . - N, O NEJEGENS ?‘;
iii) Draw the followi;}'gﬂY‘f&;whs"bﬁ-.p}'D"g_r‘e\s_siVE} die. N

Plan view of bottorg;_«“asst_eﬁlbl‘zvandfs‘e_g‘t'i‘gn_gg‘. front el'e’ggtrbn. :
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MATERIAL : BRASS SHEET

THICKNESS : 16MM

ALL DIMENSIONS .
ULTIMATE SHEAR STRENGTH : 40 Ka/MM
SHEET SIZE: 300MM X 1200MM

&' thick circular oup as shown in figure no. 2 is manufactured by using deep 20
' drawing operation. Determine following.
R DTS Blank SIZ8 S5
RIS T -“.Pger;':émé:g_e'freii‘@btion
- Number of ravs
" iv)  Radius on punches and dies 55
v)  Die clearance, punch diameter and die opening size at each draw

iy

753_10: - . Page 1 of 2

6411BAACBDBI111F7 1B9C4DB43EA‘?B 18B



vi)  Drawing force and blank holding force

(Yield strength of material : 350 N/mm?)
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Fig No.2
Deep Drawn Component
RS(\ {All Dimenslans are inmm)
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A) A press is designed to offer 90 toq\o‘f force
Sem.Stroke is variable from lem to 15cm. Calculate tonnag '
BDC. Take stroke lex:gg@ equél (o Lﬂcm_\ R e



